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And a donkey with its load — INWR2 M

OVERVIEW

The ¥n*>72 mentions various M7210 of 937, including 773w 7°%wa (of a 7n72) and
WRW»2 a0, which is seemingly the same thing. N1901N explains the need to mention
Wwna .

Mmoo responds to an anticipated difficulty:
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Even though the Xn>12 already taught 7%y nobwa (with the load that is upon
her), nevertheless it was necessary to inform us that ww»2a 11nm is also a %317 77210 -
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Since the load of the donkey is not fastened tightly upon him as it is by other
m»a, so we may have thought that damaging Xwn2 is not considered as

damaging with his body, therefore the Xn"2 teaches us that Wwn2 M is also considered
damaging 1D12.

SUMMARY
The load of a 711 is considered 19130 even though it is not fastened tight.

THINKING IT OVER

1. Why would we have thought that since the load of a donkey is not fastened tight;
it should be considered n1717% and not 1911 (as opposed to a load which is fastened
tightly)?

2. Why does not the Xn»72 mention only WXwn2 71 and it would not need to
mention oYY 7°5w1?

' We also need clarification why a 1Xw»2 771 is mentioned and no other beasts of burden. See footnote # 3.

% See mhwa 7" >"wA.

? This explains why "% is mentioned. See footnote # 1

* One might have thought that a damage caused by the 9mm71 Xw» would be considered M1 (since it is merely 13,
not 191) and pay only a p11°¢11. See ‘Thinking it over’ # 1.
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